5.4 Part 3 Finding Zeros from Graphs (work).notebook October 25, 2023

a)  Write the function g(x) = -2X + 4x + 30 in vertex form. (Y) = _Zx’- + L\ X 4 30
b)  Give the coordinates of the vertex and the — 2
4 | g (x)—3p= "Zx/ﬂ&
equation of the axis of symmetry.
c)  Describe the transformations from f(x) = ¥ to g. 9()(\ —30“2. - —zcx 2—’( _L \
d)  Graph the function. -2)= - ‘
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5.4 Part 3 Finding Zeros from Graphs (work).notebook October 25, 2023

a)  Write the function g(x) = -2X + 4x + 6 in vertex form.

b)  Give the coordinates of the vertex and the g(x) = = z&z“’ "f)('l- G
equation of the axis of symmetry. 6() - 6 — __Uz
= =
c) Describe the transformations from f(x) = X to g. 3 2
e — — -—
d)  Graph the function. 3()()—6 2= ZC& 2)( )

e)  Findthe zeros. \/ |
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